An experiment was designed to test the relative effectiveness of a computer-taught method of instruction compared with a conventional lecture method.  Two samples of three subjects each were selected from among students of good aptitude and assigned to the two methods of instruction, as shown below 

	
	Computer-taught
	Lecture method

	Bright students
	5, 7, 9
	10, 11, 15

	Ordinary students
	5, 10, 9
	4, 8, 6


Two samples of the same size were selected from among students of ordinary ability and assigned to the same methods of instruction.  In the test trial, the 12 students earned the scores shown in the table above.  

(a)  Find dftotal, dfR, dfC, dfWC, and dfRXC

(b)  Find  SStotal, SSR, SSC, SSWC, and SSRXC

(c)  Calculate the several variance estimates appropriate to a two-way ANOVA, and present the results thus far developed in an analysis of variance table

(d)  Calculate the Fs required to test the main effects and the interaction effect.  Draw the statistical conclusions appropriate when α = .05 and α = .01

                                               ^
(e)  Calculate the effect size, ω

(f)  Construct a graph of the cell means – the possible outcomes of a hypothetical 2x2 design (6 graphs) and a hypothetical 2x3 design (2 graphs).

(g)  In light of the statistical outcome (d) and the graph (e), what appears to be the essential outcome of the study?

